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PART A: Vocabulary

Directions: Choose the word or the phrase (1), (2), (3), or (4) that best completes each sentence,
Then mark the answer on your answer sheet,

1- 1t had not rained on the prairic for scveral months. Because of the drought, the climate
had become very -————---—--- =
1) unstcady 2) rigid 3) inlense 4) arid

2-  Deserted for six months, the property began to look more like a jungle and less like a
residence—weed grew -------—-- in the front yvard.
1) unchecked 2) unjustificd 3) complicated 4) scanty

3-  Can vou please —-=--—-—- this last part of the lesson for me; I’m not sure [ understood.
1) recapitulate 2) identily 3) postulate 4) rccount

4-  Gerry's dissatisfaction with our work was ~-—--—--- in his expression, although he never
criticized us directly.
I') vulnerable 2) bright 3) implicit 4) humble

5-  The world’s coal, oil and gas ---------- are finite; one day they will run out, so think now
about what you can do to consume less.
1) appliances 2) deposits 3) relics 4) amenities

6-  You are recommended to use mnemonics to help you -----—--- important items of
information.
1) enumerate 2) expose 3) recall 4y withdraw

7-  The lifespan of a mayfly is -----—----- , lasting from a few hours to a couple of days.
1} imprecise 2) ephemeral 3) superficial 4y swift

8- Ilis words to the press were deliberately -------------; he didn’t deny the reports but
neither did he confirm them.
1) mutual 2) essential 3) dogmatic 4) equivocal

9-  Ilundreds of people had come to see a popular satire, but during the performance a fire
started in the theater, and the audience and actors had to --——-—-- the building
immediately.
1) expel 2) evacuate 3) disperse 4) detach

10- Computers have helped solve some of the mathematical --------— which have puzezled
man for many centuries.
1) conundrums 2) caprices 3) artifacts 4) chronologies
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PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4} best fits each
space. Then mark the answer an your answer sheet.

When Newton arrived at Cambridge. the Scientific Revolution of the 17th century was
alrcady in [ull force. The heliocentric view of the universe—theorized by astronomers
Nicolaus Copernicus and Johannes Kepler, (11) ---------- refined by Galileo  was well
known in most European academic circles.

’hilosopher René Descartes had begun to formulate a new concept of nature

{(12) -=mmmmm-- an intricate, impersonal and inert machine. (13} ---------- . like most
universities in Europe, Cambridge was steeped (14) ---------- Aristotelian philosophy
and a view of nature resting on a geocentric view of the universe, {15) ---------- with

nature in qualitative rather than quantitative terms.

11- 1) and was later 2) and later 3) later was 4) which was later
12- 1) like 2) such as 3)as 4) the samc

13- 1) Although 2) As though 3) Because 4y Yel

14- 1)in 2) lor 3) with 4)of

15- 1) dealt 2) dealing 3) by dealing 4) and was dealt

PART C: Reading Comprehension

Directions: Read the following three passages and answer the questions by choosing the best
choice (1), (2), (3}, or (4). Then mark the correct choice on your answer sheet.

PASSAGE I:

Prolactin and growth hormone have considerable strugtural similaritics. They arc both
large single chain peptides. Prolactin is synthesized and stored in the anterior pituitary
lactotrophs. It has a weakly somatotrophic action but its predominant role is to promote
growth and maturation of the mammary gland during pregnancy to prepare it for the
secretion of milk during lactation. The secretion of prolactin is normally inhibited by
dopamine, secreted by hypothalamic neurons. Prolactin secretion is thus allowed to rise
and milk synthesis by the mammary tissue is stimulated (galactopoiesis).

Growth hormone is synthesized and stored in somatotrophs, which are the most
abundant pituitary cell type. It exerts a wide range of metabolic actions that involves
virtually every type of cell with the exception of nerve cells. Its main targets, however,
are the bones and skeletal muscles. The net effects of Growth hormone on protein
metabolism are an increase in the rate of protein synthesis. a decrease in plasma amino
acid contenl, and a posilive nitrogen balance.

16-  All of the following statemcents about prolactin are correct EXCEPT e .
1y lactotrophs produce prolactin
2) prolactin has an inhibitory elfeet on milk production
3) prolactin is stored in anterior pituitary gland
4) prolactin causes growth of the mammary gland
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17-

18-

19-

20-

21-

22-

23-

24-

Which definition is NOT true about the functional role of dopaminc?
1) Prolactin inhibits the scerction ol dopamine,

2) It originates from some neurons in hypothalamus,

3) Nervous system is involved in dopamine secretion.

4) [t can prevent the secretion of prolactin.

What does the term ‘galactopoiesis’ mean?

1) Milk secretion 2) Lactation period

3) Stimulation of mammary tissue 4y Production of milk

Which cell types are NOT affected by the metabolic actions of growth hormone?

1) Neurons 2) Cardiac cells

3) Lvinphatic cells 4) Pituitary cells

Which of the following tissues are considered as the principal targets for somatotrophs?
1) Hypothalamic neurons 2) Nervous cells

3) All body cells 4) Muscles and bones

PASSAGE 2:

'The normal cardiac impulse that initiates mechanical contraction of the heart arises in
the SA node or pacemaker. located just below the atrial epicardium at its junction with
the superior vena cava. Specialized pacemaker cells in the node possess an intrinsic
rhythm. Even if pacemaker cells are removed from the body, completely separated
from all nervous and hormonal control. they will continue to beat. Each impulse
travels swiftlv throughout the muscle fibers of both atria. An interatrial bundle of
conducting fibers facilitates this conduction to the left atrium. Thus stimulated, the
alria begin 1o contract. As the action potential enters the AV node by way ol three
intcrnodal bundles ol conducting libers, its conduction degrades markedly, thus
allowing for complete contraction of both atrial chambers before the impulse reaches
the ventricles, Afier passing through the AV node, conduction velocily raises as the
impulse is relayed through the AV bundle or bundle of [lis into the ventricles.

According to the passage, which statement is true?

1) [.ocation of the pacemaker is between pericardium and vena cava.

2) SA node needs to be controlled by Hormenal stimulation.

3) A nervous control is necessary for initiation of impulses.

4y Pacemaker cells induce involuntary impulses.

In the phrase “Each impulse travels swiftly...”, "swiftly" means ---—-----—-,

1) rapidly 2) regularly

3) constantly 4) inconsistently

Which of the following is the final structure involved in the complete contraction of the
atrial chambers?

1) All bundles of conducting fibers 2) Internodal bundles

33 Intranodal bundles 4y An interatrial bundle

The intensity of conduction inercases in all the following structures EXCEPT -——-—--m—-,
1) in ventricles 2)in the AV node

3) via the bundlc of His 4) through the AV bundlc
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25-

26-

28-

Which of the following titles best suits this passage?

1) Conduction in the Teart 2) Conduction Velocity
3) Atrial Chambers and Ventricles 4) The Pacemaker
PASSAGE 3:

‘The principal physiological action of vasopressin is as an antidiuretic hormone. For
this reason it is also known as ADH. Briefly, when V2 receptors are activated, they
facilitate the reabsorption of water from the final third of the distal tubule and the
collecting ducts ol the kidney by increasing the permeability ol these ccells 1o walcr.
The net result of its actions is an incrcasce in urine osmolality and a decrcase In urine
low. Additional renal ceffccts of vasopressin include  stimulation of sodium
rcabsorption and urca transport [rom lumen {o interstitial [luid in the medullary
collecting duct. By this action, it helps Lo maintain the osmotic gradient [rom corlex 1o
papilla which is crucial for the elaboration of concentrated urine. Vasopressin. as its
name suggests. i1s also a potent vasoconstrictor that acts particularly on the arteriolar
smooth muscle of the skin and splanchnic circulation. Vasopressin also exerts a CRH-
like activity whereby it stimulates the release of ACTH from the anterior pituitary.

According to the passage, which statement is true?

1) Vasopressin can promote more urination.

2) Deactivation of V2 receptors causes more permeability.

3y Water can be reabsorbed through ADH action.

4) Clevation of urine osmolality 1s an action ol vasopressin.

Which structures are dircetly involved in reabsorption of water from the kidney?
1) Collceting ducts and distal tubulcs

2) Distal and proximal tubules

3) Proximal tubules and collecting ducts

4y All urinary tubules

In the sentence “By this action, it helps to maintain...”, the word *“it” refers to --—--------- 3

1) Medullary collecting duct 2) Urea

3) Vasopressin 4y Sodium

What does the word "splanchnic", in the phrase splanchuic circulation, mean?
1) Skin 2) Visceral 3) PParietal 4) Splenic
Which of the following glands is the target organ of vasopressin?

1) Hypophysis 2) Adrenal

3) Thyroid 4) Epiphysis
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